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1. Problem 6.14, p. 246 – upper limit of the integral should be ro.

2. Problem 7.31, p. 275 – close parenthesis is missing in “(like the one in (7.135))”.

3. Problem 4.6, p. 169 – the example reference should be 2.7 (not 2.20), Problem 2.20
is relevant to both Example 2.7 and Problem 4.6.

4. Problem 4.17, p. 170 – replace “use the plus sign in (4.42)” with “find the geodesics
in both in and out-going coordinates.”

5. Problem 4.16, p. 170 – text should read: “with the minus choice in (4.43)” (not
(4.42)), and the form for u should be u = ct−B − log(RM − v),.
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